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PART-I (GENERAL AWARENESS)

. Sariska tiger reserve is located in

(a) Rajasthan (b) Uttarakhand
(c) Madhya Pradesh (d) Kerala
Which is not the jyotirlinga?
(@) Somanath (b) Kedaranath
(c) Mahakal (d) None
What is AR in connection with digital technology?
(a) Additional RAM (b) Artificial Recognition
(c) Augmented Reality (d) Artificial RAM

In June 2024, which State Government announced inclusion of a Chapter on
emergency in the State’s school curriculam?

(@) Andhra Pradesh (b) Madhya Pradesh
(c) Bihar (d) Karnataka
Who won Abel Prize -2025 for Mathematics?
(a) Venkatraman Ramakrishnan (b) Mikio Sato
(c) CV Raman (d) Masaki Kashiwara
Who is the ‘father of science museum movement’ in India?
(@) Prof. Rama Goswami (b) Dr Saroj Ghose
(c) Dr M.S. Thaker (d) Dr. S. R. Rao
This is not an ancient knowledge centre
(@) Nalanda (b) Takshashila
(c) Vikramshila (d) None
Kumara Bhaskara Varma Sanskrit and Ancient Studies University is located in
(@) Puri (b) Nalbari
(c) New Delhi (d) Haridwar
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9. Who was the first Indian Governor General ?

(@) B. R. Ambedkar (b) C. Rajagopalachari
(c) Rajendraprasad (d) S. Radhakrishnan

10. The term ‘offside trap’ is used in
(a) Foot ball (b) Badminton
(c) Tennis (d) None

11. Who among the following is known with the epithet of “Kalikala Sarvajna” ?
(a) Ashvaghosha (b) Dharmakirti
(c) Hemachandra (d) Raja Bhoj

12. The National Research Foundation (NRF) as per NEP 2020 is aimed at-
(a) Promoting Sports Education (b) Funding Vocational Training
(c) Boosting Research and innovation (d) Replacing Veda Education

13. Who appoints the Chairman of the UPSC?

(a) Prime Minister (b) Speaker of Lok Sabha
(c) Chief Justice of India (d) President of India
14. Which is not a commercial crop?
(a) Tobacco (b) Jute
(c) Mustard (d) None

15. Which is not a feature of north Indian temple architecture?

(a) Gopuram (With height and sculptures) (b) Sanctum Sanctorum
(c) Idol (d) Dhwaj

PART-11 (NUMERICAL ABILITY)

16-17. Refer the table and answer the question

NAME WEIGHT (kG) Height (Metres)
Aruna 79 1.61
Arushi 52 1.68

Arya 52 1.50

Asha 53 1.63

16. Who has the least weight to height ratio?

(a) Aruna (b) Arushi

(c) Arya (d) None
17. Who has the highest weight to height ratio?

(a) Aruna (b) Arushi

(c) Arya (d) None
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9. TYH WA a1 SRS FH I4?

(a) IR EEH (b) . TSR
(c) TSIEUER (d) TH. qEFOE
10. 'SFEEE 3T 5T F1 TER F5E @1 § R S 22
(a) Pl (b) w=fife
(c) < (d) *E &
11. ' FrafefEm # § fe “sfowe wag” Bl § S S 22
(a) T4EN (b) THHI
ORLEH (d) TSI TSt
12. TFEH 2020 ¥ AGER TA AFHIF FESTA (TIANTF) F1 3279 8-
(a) @ T8 ®1 FQrET < (b) SATIHIIH TRIEA0T 1 AU FHLAT
(c) FEHM 3 TR T 1 (d) 35 fRren =1 wfeeenfuq &
13. Fheaw ¥ sy $1 e =9 w22
(a) TETTHEAT (b) BIHEIT 7]
(¢) YR & G&F AT (d) 9a & Tyl
14. %4 W AEACF TS T 82
(a) THE (b) &
(¢) T (d) H1E &
15. I ARA A TgHat H1 B o ke 48 § 2
(a) TP (S R Rl % 1) (b) e
(© i (d) &I

MRI-IT (HEATHS JIdT)
16-17.MSHT @ AR T FT W S

I | T9 ( fremm ) e (Hie #)
3T 79 1.61
& 52 1.68
SRl 52 1.50
Skl 53 1.63
16.  FFa®1 oo AR S F1 JTA G FH 22
(a) =Tl (b) &=t
(c) =l (d) *E &
17. FraT -GS ST T A 22
(a) 7T (b) =T&zit
(c) @i (d) #1E &l
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18. A man can row 6 km. per hour in still water. The river is running at a speed of 1.2 km
per hour. It takes one hour to go to a place and come back. How far is the place?
(@) 2 km (b) 2.88 km
(c) 3km (d) None

19. A boy starts from his house and walks at a speed 5 km per hour and reaches his school
by 3 minutes late. Next day he walks and increases his speed by 4 km per hour and
reaches the school by 3 minutes earlier. What is the distance between his school and

his house?
(@) 9/8 km (b) 8/9 km
(c) 1.2 km (d) None

20. Three men and 7 women can do a job in 5 days, while 4 men and 6 women can do it
in 4 days. A group of 10 women working together can finish the work in how many
days?

(@) 30 (b) 40
(c) 20 (d) None

21. Rs.5200 was partly invested in scheme-A @ 10% p.a. compound interest for two years
and partly invested in Scheme-B @ 10% p.a. simple interest for 4 years. Both the
schemes earned equal interest. How much was invested in Scheme-A?

(@) Rs.3,410 (b) Rs.3,420
(c) Rs.3,430 (d) None

22. If two successive discounts of 25% and 30%o are given, what will be the ratio of marked
price and selling price?
(@)40:21 (b) 21: 40
(c)25:30 (d) None

23. The average temperature of Ujjain for four days is 48°C. The average temperature of
2nd and 3" days is 34°C. The ratio of the 15t and 4™ days temperature is 9 : 11. What
is the temperature of the 15t and 4™ days?

(a) 45°C, 46°C (b) 55.8°C, 68.2°C
(c) 46°C, 48°C (d) None

24. Rahul’s salary is 40% of Mohit’s salary. If Rahul’s salary is increased by 60% and
Mohit’s salary is decreased by 20%, then Rahul’s salary will be how much percentage
of Mohit’s salary?

(a) 100 (b) 105
(c) 64 (d) None

25. The height of the equilateral triangle is 9 cms. What is the radius (in cms) of the circle
circumscribing the 3 vertices?
(@3 (b) 6
©9 (d) None

26. The ratio of three numbers is 2 : 3 : 5. If the sum of the three numbers is 275, then
what is the largest among the three numbers.

(2) 137.5 (b) 82.5
(c) 142 (d) None
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18.

19.

20.

21.

22.

23.

24,

25.

26.

% eHl R T # 6 frarier uid g # AR ¥ A" 99T 991 & | 99 1.2 fFIHe
i He Y TR W 92 W B | TF SO W SR 9199 W H SS9 UF el Sl § | 98 e

fepert g &2
(a) 2 THT (b) 2.88 Tt
(c) 3 et (d) HTE TEl

TF FH AU W A 5 Al ufy e Fi afq F T & iR o e 3 e 38 9 wgEan
2 | o fa T oraelt wifa % 4 et wfer 9 wgr a1 B SR Txe 3 fiee me ugw W g |
3T T AN TF@ % 6 F g = 22

(a) 9/8 Tt (b) 8/9 Tt
(c) 1.2 T (d) ®IE &l

A T SR 7 ARG TF FM I 5 &9 § F GHd &, TAF 4 [V AR 6 AW ™ 4 A
H F THd & | TF G B FH AT 10 A1 F1 TF GUE T9 FM F fhaq &1 F Q@
FHFAT 82

(a) 30 (b) 40

(c) 20 (d) F1E &
5200 T FT TS &FAT THHA-A H 10% T I9 Thgly, s W I qu1 & fou ez e =
TN T2 GET TE- B H 10% T 99 FER0T A1 W 4 961 % o o v w1 9. &
THHET T T A e 8 | ShE-A H foraan foas e e

(@) ¥ .3,410 (b) %.3,420
(c) ¥ 3,430 (d) ®IE &

afE 25% SR 30% I I HoF Fe & T &, A i T R FrFT qed 1 SEIa w7
EAM?

(a) 40 : 21 (b) 21 : 40

(c) 25 : 30 (d) =S &

IS F AR & FT G QT 48 © € SR T A A F AHT A 34 © € R T
AR N Tl T AIHE FT AT 9 ¢ 11 & | T8 R A &1 7 qqHE =1 22
(a) 45°C, 46°C (b) 55.8°C, 68.2°C

(c) 46 °C, 48 °C (d) ®IE &l

TES &1 999 Hiled F a9 FT 40% ¥ | ATE TS *1 Ia9 60% T A1 MW R Afgq F
AT 20% T 1 S, Tt Tg F1 A [ifed & Ia- H1 A= Ffza aom 2

(a) 100 (b) 105
(c) 64 (d) 1§ &
qHeTg B 1 s 9 It ¥ | i =it %1 R gu g9 i e (& #) wn we
(@ 3 (b) 6
© 9 (d) F1E &

A G 1 AU 2 : 3 : 5 8 | A A1 AT FT AN 275 &, A A1 GeAredi § g
IS TEq 1 8?2

(a) 137.5 (b) 82.5

(c) 142 (d) H1E &
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27. The greatest four digit number that is divisible by both 15 and 35 is -
(a) 9970 (b) 9975
(c) 9965 (d) None

28-29. In a library, there are books on different subjects, as shown in bar graph. Study
the graph and answer the questions-

LIBRARY BOOKS

140
120
100

80

125
75
60 50
40 25
-
0

Sanskrit Itihasam Ganitham Puranas

28. Which subject does have more books than Sanskrit and less books than Ganitha.

(a) Itihasam (b) Puranas
(c) Sanskrit (d) None
29. By what percentage Ganita books are more than Sanskrit books?
(@) 100% (b) 50%
(c) 200% (d) None

30. Simplify and find the value

1 8 1 5 3 7 2

2o 525 (555 <15 73))
(a) 5 (b) 4
OF (d) None

PART-111 (REASONING ABILITY)

31-33 Read the given data and answer the following questions —

There are six kabaddi teams — A, B, C, D, E, F. All the six teams play each Saturday during
season. Each team must play against each of the other teams once and only once.

(i) Team ‘A’ plays against team ‘D’ first and team ‘F’ second.

(if) Team ‘B’ plays against team ‘E’ first and team ‘C’ third.

(iii) Team ‘C’ plays against team ‘F’ first.

31. On the first Saturday, which of the following pairs of teams play against each other?

(@ AandB,CandF,Dand E (b) Aand B,Cand E, D and F
(c)AandC,BandE,Band F (d) None
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27. AR F] F g9 I G S 15 AR 35 I G A B, | E -

(a) 9970 (b) 9975
(c) 9965 (d) ®IE el

28-29. TF TEAH@d § -3 [awal W fhare &, & f% o) a6 | f@man = g | O #0
eI HY ST 94l % S <-

JEadIed JEd

140
120
100

80

125
75
60 50
40 25
P
0

Sanskrit Itihasam Ganitham Puranas

28. g fav # Uepa | ifvs geas R 0| | FH gEa® € ?

(a) ™ (b) g

(c) G&Fpd (d) ®E T
29, T 6 T&qh G&Ha JEashi 9 - afazra i &2

(2) 100% (b) 50%

(c) 200% (d) ®E T

30. T& HY AR AN J1d L

1 8 1 5 3 7 2

2o g+ 25 (55 <15 3))
(a7 (b) 4
OF () ¢

ART-III (% &THaT)
31-33 fqu @ o1 i 7 o frmfafea wai F s -
FIS HI BE AR E - A, B, C, D, E F| @fi 38 & [ dio # & IMaAR &1 S
& | 9% E W1 UF a1 AR F9@ TF AR & gE EW F @erE |ed el |
() M T IS dM S F G Fedt § R R dm ' ¥ fEes wod 2 |
(i) T & TEe dW T F T Wedl € AR dH W ¥ dE wE W wed § |
(i) <9 & v 9 ' F fEerd "edt g |

31. TEY AWAR # fEfofed § 9 =9 @ S % SR T F e '@ed 2
(@) A 3 B, C 3 F, D 3R E (b) A S B, C 3 E, D 3X F
() A X C, B 3 E, B 3 F (d) ®IE &l
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32. Which of the following team must ‘B’ play second with ?

(@A (b) C
(0D (d) None

33. If ‘D’ wins five games, which of the following must be true ?

(@) ‘A’ looses five games (b) ‘A’ wins five games
(c) ‘B’ looses at least one game (d) None

34. According to a report, 35-40 percent of water supplied in city XYZ is lost due to
transmission and distribution losses, pilferage and lack of accountability. What
should be done by the concerned authorities among the following?

() Efforts should be made to reduce such losses through proper check and balance system.

(1) Efforts should be made to procure sophisticated equipment for better leak detection and
also a comprehensive programme be launched to repair and replace old and worn-out
pipelines.

(1) Disciplinary action should be taken against all those persons who are found guilty on
pilferaging water.

(@) Only ‘I’ (b) Only “II”
(c) Only ‘I’ (d) None

35. Identify the diagram that best represents relationship among the given classes.

Staff, Manager, Worker

@
© @ v ®

36. A Shop keeper in a mart loads his trolley and walks 30 metres through an alley which
IS going south, then he turns to his left and walks 10 metres, then he turns north and
walks another 10 metres, then he turns west and walks 45 metres and then he turns
north and walks 20 metres.

Where is he now with reference to his starting point?

(@) 35 m. west (b) 55 m. west
(c) 35 m. east (d) 55 m. east

37. What should come next ?
300, 331, 364, 399, 436, .....

(a) 455 (b) 475
(c) 465 (d) 595
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32. fafsfed # ¥ fF W ¥ @9 B’ 1 T T T @& ERM?

(@« (b) gt
) S (d) FTE &

33. (¢ 'D' 9 I St &, 91 FEfefed § 9 %9 9 FY9 9F g1 e
(a) 'A' UTE IH R ST (b) 'A' UFE T Siq S B

(c)B'®7 Y A TF IMERAT & (d) HIE &l
34. TF U ¥ 199N, WMET XYZ ¥ MY FFa S A9 35-40 Tiazd ot 2iaiHRe iR faawo

e, T AR TaEeE! F FH F RO F91g 2 e g | Fafete § | defa «ifvmfal ga

1 T S =nfEe?

(D) SfE S R Gqed TSl & WEAH d UH JHAEl H B B B UM fHa
ST =T |

(D) @ &1 g a1 S % U sfcangie IUH0T @AGH F U9 6T S =i g
T Td @S B gl URUSTSAl bl AU UF Ufqed T % {oU % e wEshH
Y& AT AT AR

(IID) 9T = & & S 90 S 90 T SARedl % G5y SIgRIEHcH® HIarE 6l St

ey |
(a) FIF T (b) & TIT'
(c) HIF I (d) ®IE &

35. 9% @ TEAH S f4U € Wi F i deel B g9 gl 9 | S0 ¢ |

< (\’ qﬁw’ [ <
- @ o
(©) @ (d @

36. TF SR H TF THAESR AT 2io1 § HHA WAl & AR TF T3 F &6 30 Hed sodr & Sl
gaor Y SR St 2, T 98 oot 918 iR geai § o} 10 Hicl 9ol g, {6 98 S &1 3R
geqr & iR 10 Hiex 9od1 &, T 98 9w #1 X Ta1 § iR 45 Hel Jadl § 3’ f a8
I F AR FSa1 g 3 20 HiX =1 ¢ |

I TR fig % ded | o 98 *El 87
(a) 35 HieX Tiad (b) 55 Hiex ufaH
(c) 35 WX & (d) 55 HeX &

37. ¥Rl F1 &A1 MY ?
300, 331 , 364 , 399, 436, ..
(a) 455 (b) 475
(c) 465 (d) 595
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38. In the following figure, rectangle represents cartoonists, Triangle represents potters,
Square represents boxers and circle represents cyclists.

Which set of letters represents boxers who are not cyclists.

A

G | I~

E
(a) F (b) BCDE
(9 E (d) BCD
39. Which pair expresses the similar relationship as the given one?
Trim : Hair.
(a) Dog : Stag (b) Nail : Face
(c) Prune : Shrub (d) None

40. What should be in the place of ¢?’

5:125::9:7?
(@) 729 (b) 279
(c) 419 (d) 629
41. Which is not similar to the other words ?
(@) CIRE (b) NAIR
(c) LOUDSC (d) RNUTHDU

42. From the given alternatives, according to dictionary, which word will come at
second position ?

(1) Budge (2) Bulb (3) Cannon (4) Bumper (5) Capable
(a) Bumper (b) Budge
(c) Capable (d) Bulb
43. Pointing to a boy, a woman says, ‘His father is father-in-law of that person whose
father is father-in-law of mine’. How the boy is related to the woman.

(@) Son (b) Brother
(c) Son-in-law (d) Brother-in-law
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38. frfefed emefy @, =ma wEfEl #1 i 8, Brs 9= #1 S0 €, 39 gEars
I & SR I Efes A@H! #1300 ¢ |
AL HT B G T I GRS B G001 & S AEFee ToEF TE E |

A

G | T~

E
(a) TF OGS
© % (d) e

39. %9 A1 I9 U T 0 F HHM G AH FLAT § ?

o

T¢H . ol
(a)w:zﬁw (b) A : ==q
(c) B : S (d) HE &

40 '?' % T W 1 21 AT 2
5:125::9:7?

(@) 729 (b) 279
(c) 419 (d) 629
41. 9 91 358 9 I8 % GHE T & ?
(a) CIRE (b) NAIR
(¢) LOUDSC (d) RNUTHDU

42. feu U fawedi § 9, TEFW F AGAR B T WG T T T AW ?
(1) Budge (2) Bulb (3) Cannon (4) Bumper (5) Capable
(a) Bumper (b) Budge
(c) Capable (d) Bulb
43. TF FTH FI X TN FJ gL TF AT FEt 8, ‘ITH (U 39 =afe &1 g & g fa
W GG T |’ STH UiRal 4 fF9 THR 9EiAd 82
(a) S (b) T
(c) TMR (d) F9¢
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44. How many colleges have banned woman from wearing jeans? To answer the above
guestion, the following data is given.

I) There are 86 colleges in all.

I1) 36 of them are co-education colleges.

[11) Only women colleges have imposed the ban.

IV) Among women’s colleges, 20% are against the ban.

Which data is sufficient to answer the given question?
(@) l'and Il are sufficient. (b) I'and IV are sufficient.
(c) Il and 1V are sufficient. (d) None

45. In a certain code language, ‘-’ represents ‘x’, ‘=’ represents ‘+’,
‘+’ represents ‘+’, ‘x’, represents ‘-’.
Find out the answer to the following question-

35-12+10x50+14="7

(@) 31 (b) 6
(c) 27 (d) None
PART - IV

(General knowledge on Veda, Sanskrit and Indian Knowledge System)

46. ‘Kauthuma Shakha’ belongs to -

(a) Rigveda (b) Yajurveda
(c) Samaveda (d) Atharva veda

47. Which is not one of the Vedangas

(a) Vyakarana (b) Nirukta

(c) Kalpa (d) None
48. Which is not one of the major Puranas -

(@) Vishnu (b) Matsya

(c) Shiva (d) None
49. ‘Lakshmana’ is considered to be the incarnation of

(@) Vishnu (b) Shiva

(c) Seshanag (d) Garuda

50. The term ‘Upanishad’ literally means -
(a) Knowledge (b) Wisdom
(c) Sitting near (d) Recitation
51. The motto of Supreme Court of India is ----

(@) Yoga kshemam Vahamyaham (b) Satyameva Jayate
(c) yato dharmastato jayah (d) None
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44. FFaq H W wigerel % g vea w wfaEy e R g 2
IWF 94 F1 IW <4 F fou, fFafefea e fomm = g
) T 86 HO & |
IN) 394 & 36 Te-Rien Fiod £ |
1I1) e HiEa Hios o & Tiqey o € |
IV) HiEe Hiesi § 20% 26 Y=y & Eord 2 |
FIE1 T XU T 95 1 SR I % g w@w ¥ |

(a) 1 3% II 99 € | (b) 1 3% IV 9479 % |
(c) III 3R IV 999 ¥ | (d) g T

45. T% Afaq =1 AW H, -, x' FSGIAE, ' 2, '+ B ST E,
'+, '+ BT I €, 'k, - T SR E

Frafefeaa 951 %1 I AHE-
35 -12 + 10x50 + 14 = ?

(a) 31 (b) 6
(© 27 (d) ®E el
WIT-4

(38, TEF AR AR 9 TS T HE TH)

46. ' HIYAT AE ' - § TG &

(a) 9T OEEEH

(c) g (d) 3o 9%
47, 9501 H 9 TF &

(a) SATHLT (b) ™&<®

(c) ed (d) HE &
48. FI9 91 THA TN H F TF TE € -

(a) fooyg (b) W&

(c) R (d) # TE
49, "FEHIT F FEFHT AR AET ST 22

(a) feroyy OREE

(c) 3N (d) &
50. ' IUMNG, ' I(T HT Wlogh 1Y ¢ -

(a) M (b) I

ORIGERR (d) IS HE
51. WA F1 FaE AT H1 4T T & —mme

(a) AV TEFIEY (b) IIHT SId

(c) Al JHEral S (d) FE T
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52.

53.

54.

55S.

56.

S7.

58.

59.

60.

61.

Who composed ‘Kavyadarsh’
(a) Bana (b) Dandin
(c) Kalidasa (d) Sri Harsha
Atharva Veda is organised into -
(a) Mandalas (b) Archikas
(c) Kandas (d) Ullasas
What is the name of the forest, where Pandavas spent their exile
(a) Khandava (b) Kamyaka
(c) Dandaka (d) None

What is ‘Sambhita’

(a) Core collection of Mantras (b) It is an upanishad
(c) Itis interpretation of Vedic Text (d) Teaching of Yoga
PART-V

(LANGUAGE, COMPREHENSION - ENGLISH AND HINDI)

Fill in the blanks with the appropriate word-
We travelled mostly by....... night.
@ a (b) an
(c) the (d) none
Supply the appropriate word in the blank-
He distributed his property .... his two sons
(a) between (b) among
(¢)in (d) none
She said to me, “Are you going to college?” — This can be rewritten without
changing the meaning as -
(a) She said to me that | am going to college  (b) She told me that she was going to college
(c) She asked me if I was going to college (b) None
‘Her dress was poor and mean’ — This can be rewritten without changing the meaning as -
(a) She did not dress poor and mean (b) She was dressed poorly and meanly
(c) She was poor and mean (b) None
What is the synonym of the word ‘ECSTACY’
(a) Delight (b) Destroy
(c) Efface (d) none
What is the antonym of the word ‘TREACHEROUS’

(a) Reliable (b) Dishonest
(c) Duplicitous (d) none
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52.

53.

54.

55.

56.

S7.

58.

59.

60.

61.

' Fregeal ' e foan?
(a) SUTIE (b) TUST
ORI (d) =i =9
SFAT F 9 AW | GSA RRAT T ¥ -
(a) S (b) ==kt
(c) FUE (d) g™
3G I F1 A9 FA1 & T qreal | AT [T WA ot
(a) @ied (b) FHIH
(c) T (d) =5 &
" gfgar ' 22
(a) HAl T G&q GUE (b) T TH IS
(¢) I Al UTS T A& & (d) 9T T Bram
-V
TN QA ol o
(AT, §HA — =S 3R T&E<0)
Fill in the blanks with the appropriate word-

We travelled mostly by....... night.
(@a (b) an
(c) the (d) none
Supply the appropriate word in the blank-
He distributed his property .... his two sons
(a) between (b) among
(c)in (d) none
She said to me, “Are you going to college?” — This can be rewritten without changing
the meaning as -
(@) She said to me that I am going to college  (b) She told me that she was going to college
(c) She asked me If I was going to college (b) None
‘Her dress was poor and mean’ — This can be rewritten without changing the meaning as -
(a) She did not dress poor and mean (b) She was dressed poorly and meanly
(c) She was poor and mean (b) None

What is the synonym of the word ‘ECSTACY’

(a) Delight (b) Destroy

(c) Efface (d) none
What is the antonym of the word ‘TREACHEROUS’

(a) Reliable (b) Dishonest

(c) Duplicitous (d) none
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62.

63.

64.

65.

66.

67.

68.

69.

Promises should be kept — — This can be rewritten without changing the

Meaning as -

(a) We should keep the promises
(c) One should keep one’s promises

It was bitter cold. — Correct this sentence.

(@) It is bitter cold
(c) It was bitterly cold

AT 758 § %I 1 7 22

(a) wt

(c) TYa®

T H Y FH 91 368 HNT &2
(a) B

(¢) ¥H=%

I | 2re8 FHATRT0 §2

(a) <9I

(c) et

Y9I T AT 355

(a) M

(© P

T T gH T F T TH BIHIH F1 3

(a) HUCYUl STTERT
(© (a 3R (b)

4 e | F 41 {5 B2
(a) &t
(¢) TY&®

70. U=3% =1 @M Mg

(a) oTfes®
(c) 3=z

(b) None should keep the promises
(d) none

(b) It was a bit cold
(d) none

® 9
(d) =T &l

(b) YrSm™HT
(d) ==

(b) G
(d) = &l

(b) HM=®
(d) =RK

(b) @ Mo

e € o

(d) =R Tel

® 9
(d) = &l

(b) IH
(d) =g &
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PART/MWRT -V (Essay writing/ 7@ &@9)  Marks/3® - 10

Write an essay on any one of the following topics not exceeding 100 words either in
English (Roman Script) or in Hindi (Devanagari Script), according to your choice.

frafofed # @ FFdl oF A T ot wHe % SgEr Sist (T0A ffd) o1 & (SFae fof) o
100 T3 | Hifea fey fod |
1) Pahalgam incident/9g&H =1
2) ‘\Vedas are source\of gbundant knowlgdge’ -that are your views on this?
98 UL A &1 9ld § - 9 9 AU A1 99N 5?7
3) A childhood memory that stayead with you over the years and also as of today.
AU I TE AG S AN qF AR S A T Ay G |
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For Rough Work
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